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Умножение

1. Выполните умножение: 
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2. Какое из данных произведений наибольшее:

а) – 3,4 ( 2,5
б) – 3,7 ( 2,2
в) – 3,7 ( (– 2,2)
г) – 3,4 ( (– 2,5)

3. Решите уравнение: у : 2,34 = – 6,1

а) 14,274
б) – 14,274

в) 142,74

4. Выполните действия: 
[image: image5.wmf](
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а) 1
б) 10

в) – 10

5. Решите уравнение: (– х + 3) ( (х + 4) = 0

а) – 3 и – 4

б) 3 и – 4
в) – 3 и 4
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Умножение

1. Выполните умножение: 
[image: image6.wmf]6
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б) 
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в) 
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2. Какое из данных произведений наибольшее:

а) – 6,1 ( (– 1,7)
б) – 1,9 ( 5,8
в) 6,1 ( (– 1,7)
     г) – 5,8 ( (– 1,9)

3. Решите уравнение: у : 1,73 = – 8,2

а) – 13,186
б) – 14,186

в) 13,186

4. Выполните действия: 
[image: image10.wmf]÷
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а) – 0,45
б) 0,45

в) – 0,045

5. Решите уравнение: (7 – х) ( (х + 5) = 0

а) – 5 и 7

б) 5 и 7
в) – 5 и – 7



	М – 6







В – 2

1. Умножение

2. Выполните умножение: 
[image: image11.wmf]÷
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3. Какое из данных произведений наименьшее:

а) – 2,6 ( (– 1,5)
б) 2,7 ( (– 1,4)
   в) – 2,6 ( 1,5
г) – 2,7 ( (– 1,4)

4. Решите уравнение: х : 1,9 = – 4,12
а) – 7,828
б) 7,918

в) –  7,918

5. Выполните действия: 
[image: image15.wmf](

)

÷

ø

ö

ç

è

æ

-

×

-

×

-

×

-

11

7

2

)

125

,

3

(

2

,

3

29

11


а) 1

б) 1

в) – 10

6. Решите уравнение: (– х – 6) ( (х – 2) = 0

а) 6 и 2

б) – 2 и – 6
в) – 6 и 2
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Умножение

1. Выполните умножение: 
[image: image16.wmf]÷
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2. Какое из данных произведений наибольшее:

а) – 4,3 ( 2,7
б) – 2,3 ( (– 4,6)
в) 2,3 ( (– 4,6)
     г) – 4,3 ( (– 2,7)

3. Решите уравнение: х : (– 3,5) = 7,29

а) 25,515
б) – 2,5515

в) – 25,515

4. Выполните действия: 
[image: image20.wmf](
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а) – 0,1
б) 1

в) 0,1

5. Решите уравнение: (– х + 2) ( (х + 9) = 0

а) – 2 и – 9

б) 2 и 9
в) 9 и – 2
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